Respuestas de los ejercicios de la práctica 5

1.  t=:  ([ = ]) # (i. @: $ @: ])

2.  g=: 4 : ' ((1 - (x. < y.))# y.), x., ((x.<y.)#y.)'

3.  f=:  ([ = ]) # (i. @: $ @: ])

     h=: (1 & {)@: $ @: ]

     z=: [ f (, @: ])

     g=: (<. @: (z % h)) ,. (h | z)

     a g A

4. saldo=: ( ] ` (1.005 & *) ` (0.98 & *)) @. ( ( > & 100) + ( ( 2 & * ) @: ( < & 0 ) ) )

5.  L=: ( (]+( L @: <:)) ` 1:) @. ((0 & =) @: ])

     f=: (L "0) @: i.

6. f=: ((((3 & *) @: f @: <:) + (2 & ^))` 2:) @. ((0 & =) @: ])

7. f=: (1: ` ((f @: <:) + (f @: <: @: <:))) @. ((1 & <) @: ])

8. f=: ((2:+ ((3 & *)@: ])) ` (((2 & *) @: f @: <:) - (f @: <: @: <:))) @. ((1 & <) @: ])

9. i)    fact =: */ @: i.

    combina=: 4 : 0

    (fact x.) % (fact y.) * (fact (x.-y.))

    )

ii) f=: (1: ` (((<:@: [) f ])+((<:@: [)f(<:@: ])))) @. ((]<[)*(0:<]))

10.7.  f=: ((*/ @: >:@:i. @: ]) ` (] * (((<:@: [) f ])+((<:@: [)f(<:@: ]))))) @. ((]<[)*(1:<]))

11.    ele=: 3 & ^

      logar=: <. @: (ele ^: _1)

   f=: 3 & |

   vect=: 3 : '(((0 { y.)- f (0 { y.)) % 3) , y.'

   base3=:  f @: (vect ^: logar)    

12. f1 =: >: @: (3 & *)

    f2=: % & 2

    siracusa=: (f2` f1) @. (2 & |)

    g=: <. @: %  @: {.

    re=: 3 : '(siracusa (y.)) , 1'

    po=: 3 : '(siracusa (0 { y.)), (1{ y.)+1'

    h =:  (re ` po) @. (<: @: # )

    recursi =: (recursi @: h `  }.) @. g

13. mcd =: ( ( ] mcd ( |~ ) ) `  ] ) @. ( (= & 0 ) @: ( |~ ) )

14. u=: 4 : '(}: x.) + ((((# }. x.) - 1) $ 0), <. (({: x. +{:y.)%3) )'   

     v=: 4 : '(}: (0,x.)) + ((((# }. (0,x.)) - 1) $ 0), <. (({: x. +{:y.)%3) )'

     g=: (u ` v) @. (< & 2 @: # @: [)

     h=: }: @: ]

     z=: 4 : ' 3 | ({: x. +{: y.)'

     f=: (((g f h),z)`(g,z)) @. (< & 2 @: # @: ])

     T=: (] ` }.) @. ( (0 & =) @: {.)

     suma3=: T @: f

15.  prog=: 4 : 0

    n=: #:(1008|y.)

    u=: ((9 - ($n)) $ 0)

    n=: u,n

    a=: 1009|x.

    f=: (((1009 & |) @: (^ & 2) @: f @: <:) ` ((a & *) @: 1:)) @. (= & 1)

   ((1009 & |) @: *)/ (1, (n # (f 9), (f 8), (f 7), (f 6), (f 5), (f 4), (f 3), (f 2), (f 1)))

   )

16.    primos =: 3 : 0

  A=: ((>: @: >: @: i.) */ (>: @: >: @: i.)) y.

  A=: , A

  x=: (>: @: >: @: i.)(y.-1)

  vec=: x e. A

  vec=: 1 - vec

  vec # x

  )

   fact=: 3 : 0

  u=: 1: , primos @: <. @: %:

  f=: (] `(((1 & {) @: g), (f @: (] % ((1 & {) @: g))))) @. ((> & 1) @: # @: g)

  f=: (] `(((1 & {) @: g), (f @: (] % ((1 & {) @: g))))) @. ((> & 1) @: # @: g)

  f y.

  )

17.  miracle=: 4 : 0

 K=: x. * y.

 a=: x. <. y.

 b=: x. >. y.

 g=: <. @: (% & 2)

 h=: 2 & *

 u=: (((2 & |)@: [) * ])

 f=: ( f @: ((g @: (0 & {)), (h @: (1 & {)), ((2 & {)+((0 & {)u (1 & {))))` (2 & {)) 

           @. ((= &  0)@: (0 & {))

 K- (f (a,b,0))

 )

18.  i) f=: 3 : ' (y.=(>./y.)) # (i.($y.)) '

ii)  f=: 3 : ' (y.=(>./y.)) # (i.($y.)) '

    h=: 3 : '(0 ( f y.) } (($ y.) $ 1 )) # y.'

    g=: (( (f { ]) , g @: h) `]) @. (# = 1:) 

19. i)  h=: 4 : '(0 (0 { x.) } (($ y.)$ 1)) # y.'

  t=: 4 : ' 0, }. x. , (0 { x.) { y.'

  v=: ((0 & {) @: [) = ( # @: ])

  u=: (2 & *) @: (= & 1) @: # @: ]

  w=: 4 : ' 0 $ 1'

  k=: ((>: @: (0 & {) @: [), (}. @: [))

  g=: (((k g ]), (t g h ) )` w ` ((}. @: [), ]) ) @. (u + v)

 permut=: 3 : '(( */(>: (i. y.))), y.) $ (0 g (1 + i. y.))'

 sumper =: 3 : '+/( (10 ^ i. y. )* (+/ (permut y.)))'

ii)  min=: 3 : ' (<./ y.)  = y.'

   resto=: 3 : ' (1-min y.) # y.' 

   primeros=: 3 : ' (min y.) # y.' 

   f  =: ((primeros , (f @: resto) )` primeros) @. ((0 & =) @: # @: resto) 

  h=: 4 : '(0 (0 { x.) } (($ y.)$ 1)) # y.'

  t=: 4 : ' 0, }. x. , (0 { x.) { y.'

  v=: ((0 & {) @: [) = ( # @: ])

  u=: (2 & *) @: (= & 1) @: # @: ]

  w=: 4 : ' 0 $ 1'

  r=: 4 : ' +/ ( ((0 { x.){ y.) = y.)'

  ver=: 4 : '3 * ((1- ((x. u y.)%2))* (1- (x. v y.))* (+/((0{y.)=y.))= (# y.))'

  k=: (r +  ( (0 & {) @: [)), (}. @: [)

  g=: (((k g ]), (t g h ) )` w ` ((}. @: [), ])`((}. @: [), ]) ) @. ((u + v)+ ver)

       permut=: 3 : 0

   y=: f y.

   ((($(0 g y))% ( $ y) )   , $ y) $ (0 g y)

   )

